
MAC 2311 - Carr Discussion Quiz 9 Thursday (3) - Spring 2023

Name: Date

Instructions: For each question, neatly write a solution and circle your answer.

1. Use a linearization of f(x) =
p
7� x at x = 3 to approximate f(3.2).

2. Find the absolute minimum and absolute maximum of f(x) =
1

3
x3 +

1

2
x2 � 6x+4 on the

interval [0, 3].

 

Key

L X R FCa t f a X a f 3 2 ILL 3 2
f 3 773 54 2 I 2 I 3.2 3
f x E 7 x EC D IF 22 I CO 2
F 3 If It Iz y 22 0.05

a 1.95
L x 22 4 x 3

f x XI X 6
O Xt3 x 2

x 432
Interval

f o 3 03 1.02 6.0 4 4 absolutemax

f 2 3 23 1 22 6 2 4 8
2 12 4 38 6

E ft absolutemin

f 3 333 1232 6 3 4 9 92 18 4 92 5

E E I


